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a) ¥32=25=2

b) V=8= V(-2 =2
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1

AZEEPT 2§ 8 g 5 |#&|7upr
B 1 K #
ROERZE, Vam ODREICEKRE. 212U, a >0ET3.
a) a%=\3/672 b) 0175=a%=a;}=
1 5
_ 25 _ 3
c) q-25 =az

%

a 1 _1 1_1
7 a-a3-a6 =qlt3i s =¢
a

RDOELZEETEL, BAZDIBIBHOETCRE. L, a>0, b>0&£TD
Ja
a) ——= =

[e) N}

b) V4 a3 x \6/(14 = a% -a% = a%""

WIN

3 =qal
4 1 _3 1_3 _35
c) 3/5+«/a3:a3-a 1 =q3 4=q 12
3 3 1 1 2
va3b x ¥Jab? a2 -b2-a3-a3 3.1.5 1.2 1
d) 3 = 3 1 :a2+3 6-b2+3_6
~asb as -b s

=alb! =ab

x 103 x 108 = 10"6+3+% = 10! = 10
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a) 299 =1414 £92%. TDEE, 2705 OFELUEF, 2795 =205 x 271 = 1.414 + 2 = 0.707
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x| =3 | =25| =2 | -15] -1 -0.5 0 0.5 1 1.5 2 2.5

y | 0.125 | 0.177 | 0.25 | 0.354 0.5 0.707 1 1.414 2 2.828 4 5.656
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